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1. Introduction

In a non-Relay LTE network, assuming each UE has a best effort flow, the DeNB will attempt to serve the best-effort traffic of the UEs fairly based on the historic throughput of each UE, the radio condition of each UE, the instantaneous rate of each UE, etc. However, when relays are deployed, such DL information is readily available at the DeNB but the UL information is not. As a result, the DeNB can serve the DL best-effort traffic fairly but it will be very difficult to serve the best-effort UL traffic fairly across all the UE’s (i.e,. the UE’s served by the DeNB and the UE’s served by the Relay). An example is shown in Figure 1.
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Figure 1: An LTE network with Relays

Suppose UE1 to UE6 all have a best-effort flow. In order for the DeNB to serve their UL fairly, the DeNB will need to know the aforementioned information of the UEs under the Relays. Otherwise, the DeNB will serve Relays 1, 2 and UE6 UL equally as if they were three similar UEs, which is clearly undesirable since obviously Relays 1 and 2 need more UL resource as there are more than one UE’s under each of them.

2. Discussion
We believe it’s important for the DeNB to serve all the UE’s fairly, regardless of whether or not the UE’s are served by a Relay and we request RAN2 to discuss this problem.
Proposal 1: Discuss the above problem.
3. Conclusion

In this contribution, we point out a potential issue for the DeNB to serve the UL best-effort traffic of the UE’s fairly regardless of whether the UE’s are served by the DeNB directly or by a Relay.
Proposal 1: Discuss the above problem.
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